
Time: 10 Minutes Paper Math 3 (T-1) Total Marks: 10

1st Month, 4th Week, 1st  Day Syllabus: Unit # 1: Review Exercise Q. No. 1, 2, 3

Q.No.1. Choose the correct options. (1x 5 = 5) 
(i) Roman number XIX is equal to:  XIX 

(a) 10 (b) 11 (c) 19 (d) 20

(ii)The place value of the digit 2 in 2750 is:  2750  2

(a) Tens  (b) Ten thousands 

(c) Thousands  (d) Hundreds 
(iii) Eight thousand seven hundred twenty is: 

(a) 8720 (b) 8702 (c) 8072 (d) 87020

(iv)23, 25, 21 and 27 can be written in descending order as:

 21, 25, 23  27

(a) 21, 23, 25, 27 (b) 23, 25, 27 (c) 27, 23, 21 (d) 27, 25, 23, 21

(v)16 can be rounded off to the nearest 10 as:  10 16

(a) 10 (b) 15 (c) 20 (d) 16

Q.No.2. Write the following numbers in roman digit. (0.563)


2 5 8 11 15 19

Q.No.3. Choose the correct option and fill in the blanks. (122)


iv) Number of sides of triangle are _____.   

(Even or Odd  )

iv) Number of wheels in a car are _____. 
(Even or Odd  )
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